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What Do TMC’s Do?
 Incident Management 101
« Benefitsofa TMC's

0 What you will learn today about TMC’s
e Mission/Configuration/Locations

Incident Management 101

Benefits of a TMC - Nonrecurring Congestion Analysis
(example)

+ Southbound US-101 = 5 lane section

= Weekday morning commute period

= Vehicle demand excesds capacity from 7A.M. to 8:30 A.M.

A + Rear-end colision occurs at 7:30 A.M. that causes a lane closure
RN« Incident is cleared at 2:30 A M
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Mission of the TMC

To efficiently manage a District’s transportation
system, to reduce congestion and provide the
safe and efficient movement of people, goods,
services, and information, by coordinating with
partners to cooperatively manage the system in
response to:

* Incidents

* Daily Commutes

* Special Events
« Work Zones
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o 24/7 Co-located w/CHP Call Centers
— D-3 Sacramento
— D-7LosAngeles
- D-11SanDiego
— D-12 Orange County
— D-8 SanBernardino (2011)

— D-4 Oakland
— D-6Fresno
— D-10 Stockton

«  Weekday
— D-1Eureka
— D-2Redding
— D-5San Luis Obispo
— D-9Bishop
— Kingvale - Seasonal



Transportation Management Centers - Locations

District4 District 11 District 6

Regional Urban

District 7

District 12

District 9 District 2 District5
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What Does a TMC Do?

Congestion

Recurrent
o Daily Commuter Traffic

Document

Non-Recurrent

o Un-Planned
Incidents

e Planned
Events
Lane Closures
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What are the Benefits of a TMC?

« Reduce Traffic Delays
« Reduce Traffic Incidents

« Save Fuel

« Improve Air Quality
« 8:1Benefit/Cost Ratio
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Benefits of a TMC - Nonrecurring Congestion Analysis
(example)

Example Incident

Southbound US-101 - 5 lane section

Weekday morning commute period

* Vehicle demand exceeds capacity from 7 A.M. to 8:30 A.M.

» Rear-end collision occurs at 7:30 A.M. that causes a lane closure
* Incidentis cleared at 8:30 A.M.
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Total vehicle-hours of delay = 9,250

@ $15.60 per vehicle-hour VEHICLE DEMAND VS CAPACITY
Total cost of delay = $144,300

Benefits of a TMC - Nonrecurring Congestion Analysis (example)
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Reduced vehicle-hours of delay = 1,690
@ $15.60 per vehicle-hour VEHICLEDEMAND VS CAPACITY
Total cost of reduction = $26,360 _ _ _
A 18% Savings Benefits of a TMC - Nonrecurring Congestion Analysis (example)
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Additional Reduction = 2,060 veh-hrs
Total Reduced = 3,750 veh-hrs VEHICLE DEMAND VS CAPACITY
@ $15.60 per veh-hrs Benefits of a TMC - Nonrecurring Congestion Analysis (example)
Total cost of reduction = $58,500
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